FrA2FAERAYE 0TEERS 1 8% 1| 83 7T #5898 EEY
T B A

A T T Y TR T AT T T TAN

- ~EEE (F4L 5 40 A) 3 LE T A AN
1‘( ) ‘:‘LEJ‘."J 160 Q}A\j‘;ﬁ ’ﬁ_ﬁ/r’g 165 =~ A — %45 (1) 70+(_210 )_50: @
RIlL 258 154 24 fze i 5092 —
(M)+154 (B)—154 (O)+6 (D)—6 (2) (=23) x (=85 ):T=_O

2~(C ) B¢EEIEHT

3 SRS (3)842 x 16+ (—16 ) x812=_ ®
A5 B4 ©2 D1

(3) (—4)x2+(—6)x[24— | x(—3) | ) —5=
3 () HTEEMR Y 290 —1 2 BehE B FEAA 2 A
EAABAH Y — R o P ERG ABL T ik (4) (=3 x4+ (=2 )x6+(—48)xd’=_ @

& ? A
i ! +—FHHHH—F B V
—3 —2 —1 0 4 TE%]KP Q R =t Q‘!:, &é‘ﬂ 3 m]"'_BE" s U ]FE m:.:lf, *}‘;‘-Ia\ ;7‘];_;‘
(A)_lL (B)_IL (C)_ZL (D)_Zi p~q-~re e S | p—r| :12, |p_q| :7, E]'J R _ @
4 8 4 1 |
P Q R —
4-C ) TolgE Y e g 23 8 A ? p q r

D—(=T)A-Tedr & (B)—(-9=9

© 0z nrgk O=(+5) Lok & 5 Hcs b Z 8 A (—23 ) B (—5)C(c)° FBEAC

5+~(C ) esA(a)~B(b)~05maE ¥ a<0ra—b<0- 23]
PIA~B A Balicl b cn B 7 5T 5ie§ 2 PEL Rle=__®___ -
| | | - | | | -
(A) | = (B) | | — ,
B O A A B O 6~ c 43P 30=9%3", 45 4P =3x5xd" > £ n—m=
(C) | | [ (D) | | — [)‘LE #ﬁﬁ’ :38_36 :36 X(32—1)]
('3 é A' B A O
6:C Da=20:(—5) > Trlir¥ Bk eai[Big? = BTGNS EFREENEES B RER S0)
(MD(—8 )+(—2 ) =(—=3 ) (B) [ —( 4x3 )] x7 - S ) o
(O105(—2 ) x(—=5) M(—2)x(—=2 ) +(—4) 1 ~ZIAR? gxpRbpEF 12 LR > @i g2 180 =
A5 183 & c1+3 ERFREL mAFHR T
T )7 =2"re=5"f=(=-3)""=(-8)" T A g sesikeT SR R IR
N=—(=3)' p? e~ A7 Bi#k? F 5Bk %i%ﬂ?ﬁéi");}&?@/})
ELrE?20)4B B)3IB C© 2B (D) 1B a Z A - X
+4 —6 +9 -5 +8

8-( ) ®a=3 b=4>c=2%3>d=5">mla~b-~c~d
X SURRE R SRl
(Md>a>b>c (B)e>d>a>b (C)b>d>a>c 2 B ERHE DH AL 51004 0 X EH14EEA4

(D)d>a>c>b ANRED ¥ B I M A SIS A S I Pl VAN #\i’rf‘;—*ﬁz %
L ek o FEER K B 2040 2HATTE 0 R BEN
9~( ) % 3%2T%9+81'=3" > 10'x100 "x1000'=10" - PAEERIHRE S LT (5A)

Mlat+b=7 (AM)10 (B)11 ©)12 (D)13
3~2drA (=54 ) B (66 ) Eficst a7 Rt in ¥

10~C ) % A=100x986x1003 » B=100x987x1002 - BV A B TP BBER R 10 ] B o gp S R 7 hid
PIB—Az 3 ? i Lk R S R B 115 [in +]
(A)1600 (B)—1600 (C)1800 (D)—1800 [0 7] Fesp2 LB AT A BeY BOBE T A
AR B THRL 6 AP AP (B

S CHE AR (FH AL 10RE 40 A) Fhm=? (54)

LT 8 e £ 5 S RELie?___O_#
A~ BRI ARKEITIVG 2 By B P IITE DE

—2 ~ 3~ 0~ 2 ~—1.7 —25-—12 + 2.1 PREE B PP D HRFRE LB 30 A RS
1
@'imT BRI 47 BRE o BR O Eoxik
3 3
20 =32 0.7~ | 2| ~ =09~ | == | » 15 LEEEFT S BpA 2 G Hﬂﬁx fE7) (54)
: 1"
B fic? fm,'g_ﬂA_%mJF @ o X oFT D F n AL FEFE ( 2) =g %



AP 2 ERAYE 0TEERSY | 9% | <£F T aamS a8 5%%
IT kL A
P RN VTS RN E S RR) T RN
- ~EBR (F4E4 4 01088 40 ~)
1 2 3 4 6 7 8 9 10
D D A C C B D B A
- cERR (FRAASI0RE 40 ~)
) ® ® @ ®
4 3 -190 115 480
® ©O) ® Q)
=31 =T 5 13 2
;‘@wg<+m»’¢%a@ﬁm B BYEEAD BA)
MESCEL A FRAE F 4] A X
1 (54) 2 (54)
TREF| D A B R 1~ PFES (o) P4 3% 1~
I ) MRS 24
RN ZmL g 18228 24 @S T 28
3(5A) 4 (54)
2 A~ B iR 1~ 1
b = LA ApA R R kS ()0 1
T Cgpdtye 24
FINTREES 24
fdm= -24 24
Tt pd el 3 2 oy 24




	10711-7math

